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SOCIAL WORK
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)
marks. Attempt all of them.

1.  ‘Whatis Social Case Work’ is written by

(A) G.R. Banerjee (B) Mary Richmond
(C) H. H. Perlman (D) F. Biestek
2.  Match the following pairs :
(a) S. Freud (i) Hierarchy of needs
(b) Erich Fromm (i)  Child Development
(c) Abraham Maslow (iii) The Unconscious

(d) Elizabeth Harlock (iv) Freedom
(a) (b) © ()

A ay () Q) @

B) @) () i1 @D

© @ i @) av)

D) Gv) @) G @

3.  The Quota Sampling is called

(A) Opportunistic sampling (B) Poor man’s stratified sampling
(C) Probability sampling (D) Dense sampling
4.  Who defined Statistics as the science of estimates and probabilities ?
(A) Bodington (B) Bowley
(C) Fisher (D) Agrawal
5.  The point where two axes intersect is known as
(A) X axis (B) Y axis
(C) Origin (D) Table
6.  Quartile deviation is also known as
(A) Range (B) Mode
(C) Semi-Inter Quartile Range (D) Dispersion
7.  The first country in the world to launch a nation wide family planning programme is
(A) China (B) Russia
(C) America (D) India

8.  Identify the correct chronological sequence.

(A) Association for improving the conditions of the poor, Ram Krishna Mission,
Charity Organizations Society, Sriniketan Institute of Rural Reconstruction.

(B) Association for improving the conditions of poor, Charity organisation society,
Ram Krishna Mission, Sriniketan Institute of Rural Reconstruction.

(C) Charity organisation society, Association for improving the conditions of poor,
Ram Krishna Mission, Sriniketan Institute of Rural Reconstruction.

(D) Sriniketan Institute of Rural Reconstruction, Charity Organisation Society,
Ramkrishna Mission, Association for improving the conditions of poor.
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9.  The process of translating social policy into social service is
(A) Social Welfare (B) Social Action
(C) Social Service Administration (D) Public Administration

10. Arrange the following in proper sequence :

(i)  Arrival, institutionalization, orientation, acculturation, ritualism.

(i1) Arrival, orientation, ritualism., acculturation, institutionalization.

(iii) Arrival, ritualism, orientation, institutionalization, acculturation.

(iv) Arrival, acculturation, institutionalization, ritualism, orientation.
(a) (b) © @ ()

A @ ) G Gv) ()

B) @ i) i) Gv) (v)

© @ (v) (iv) (i) (i)

O @O (v (v) (i) (i)

11. We have authorities under Industrial Disputes Act, 1947. Identify the correct order in
which they appear for settlement of disputes.

(A) Bilateral Negotiation, Conciliation, Adjudication, Court of Law.
(B) Adjudication, Conciliation, Bilateral Negotiation, Court of Law
(C) Bilateral Negotiation, Court of Law, Conciliation, Adjudication.
(D) Conciliation, Court of Law, Adjudication, Bilateral Negotiation.

12. Marital Status is
(A) Internal variable (B) Nominal variable
(C) Ordinal variable (D) Ratio variable

13. A: The emphasis on ‘person-in-situation’ is to understand and help the individual
Client’s better.

R: The person-in-situation configuration is subjective.

(A) Both (A) and (R) are wrong.

(B) Both (A) and (R) are correct, but (R) is not correct explanation of (A).
(C) Both (A) and (R) are correct, but (R) is the correct explanation of (A).
(D) (A) is correct, but (R) is wrong.

14. Identify the correct chronological sequence.

(A) Nagappa Neighbourhood House, Nilokheri Project, Etawa Pilot Project, Delhi
Pilot Project.

(B) Nagappa Neighbourhood House, Etawa Pilot Project, Nilokheri Project, Delhi
Pilot Project.

(C) Nilokheri Project, Nagappa Neighbourhood House, Delhi Pilot Project, Etawa
Pilot Project.

(D) Etawa Pilot Project, Nilokheri Project, Nagappa Neighbourhood House, Delhi
Pilot Project.
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(@ (b © @ (@
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15.

16.

17.

18.

19.

20.

The word ‘set-on’ and ‘set-off” is related to
(A) The Payment of Bonus Act (B) The Payment of Wages Act
(C) The Minimum Wages Act (D) The Factories’ Act

Assertion (A) : Ozone layer protects living beings from being exposed to excessive
ultra-violet rays.

Reason (R) : Ozone hole in the atmospheric layer is over Antarctic ocean.

(A) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is the correct explanation of (A).

(C) (A)is false, but (R) is true.

(D) (A) is true, but (R) is false.

Assertion (A) : The Directive Principles of State Policy are predominantly based on
the principle of Distributive Justice.

Reason (R) : Unequal opportunities slow down the achievement of distributive
justice.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(C) (A) is correct, but (R) is wrong.

(D) Both (A) and (R) are wrong.

Match the following pairs :

(a) Complex Organizations (i) Margaret Mead
(b) Symbolic Interaction (ii) Talcott Parsons
(c) Bureaucracy (iii) Amitai Etzioni
(d) Functionalism (iv) Max Weber

@@ (b  (© @
Ay @  Gv) aG) (@)
B) @) @ Gv) 3D
© Gv) @G Gy (@)
@O ® G G 3Gv)

The likelihood of a measure producing same result under various conditions is called

(A) Reliability (B) Outcome

(C) Validity (D) Replicability

Match the following pairs and choose your answer from the codes given below :
(a) Psychoanalytic Theory (i) Began

(b) Ego-Psychology (ii) Anna Freud

(c) Psycho-Social Therapy (iii) Hamilton

(d) Problem Solving Therapy  (iv) Sigmund Freud

Codes :

@ (® (© (@
A o G G 3Gv)
(B) @Gv) (@) @ (i)
© a @®  Gv) (D)
(D) (i) - (D) @®  @Gv)
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21.

22.

23.

24.

25.

‘Apartheid’ refers to

(A) Social discrimination (B) Political discrimination

(C) Racial discrimination (D) Spatial discrimination

Match the following :

(a) Papers in Social Work (i)  Murli Desai

(b) Some aspects of Social Development (i) G.R. Banerjee
(c) Towards a Philosophy of Social Work in India (iii) M.S. Gore

(d) Ideologies in Social Work (iv) Sugata Dasgupta
Codes :

@ (® (© (@
A o G G 3Gv)
B) Gv) ) @ @
© Gy @) Gy @
D) @) Gv) @) 3D

The failure to recognize that the concept is not the phenomenon itself is called
(A) Ecological Fallacy (B) Delimitation
(C) Fallacy of reification (D) Induction

Assertion (A) : Civil Society Organizations contribute towards participative
democracy.

Reason (R) : Rich associational network is one of the characteristics of
participative democracy.

Identify the correct statement from below :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is wrong.

(C) Both(A) and (R) are correct and (R) is the adequate explanation of (A).
(D) Both (A) and (R) are correct, but (R) is not an adequate explanation of (A).

Match the pairs :

(a) States’ re-organization (i) Morarji Desai

(b) States’ Merger (ii)) Roman Empire

(c) Bilingual State (iii) K. M. Panikkar
(d) City States (iv) Vallabh Bhai Patel

@ ® (© (@
@A @Gv) @) @ @
B) @)  Gv) @) 3D
© O G G 3Gv)
D) @ @  3Gv) (i)
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26.

27.

28.

29.

30.

31.

32,

33.

‘Cliques’ are made up of
(A) group of close friends (B) group of people
(C) football team (D) crowd

The appropriate government can suspend all the provisions of Factories’ Act, 1948
during emergency except

(A) Section-11 (B) Section - 51
(C) Section — 67 (D) Section — 84

UGC Second Review Committee for Social Work Education submitted its report in the
year

(A) 1964 (B) 1972

(C) 1978 (D) 1981

Match the following pairs :
(a) Progressive Programme Experiences (i)  Social Welfare Administration

(b) Confidentiality (i) Community Organization
(¢) Need identification (iii) Social Case Work
(d) Authority and Obedience (iv) Social Group Work

@ (b  (© @
A) @) @Gy @ ()
B) G @©H  (Gv) (i)
<G © G 3G aGv)
O Gv) @) @ @

Which one of the Articles of Indian Constitution made the provision for free and
compulsory education for all the children up to the age of 14 ?

(A) Article — 42 (B) Article — 43
(C) Article — 44 (D) Article — 45

Which of the following is not a form of intervention ?
(A) Enhancement (B) Competence
(C) Prevention (D) Control

Who of the following acted as Constitutional Advisor to the Constituent Assembly ?
(A) B.R. Ambedkar (B) Rajendra Prasad
(C) B.N.Rao (D) Sachidananda Sinha

The year 1999 — 2000 was observed as the year of
(A) Gram Sabha (B) Municipal Governance
(C) Child Rights (D) Human Rights
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34.

3s.

36.

37.

38.

39.

40.

41.

Crisis intervention is

(A) Psychological first aid

(B) An event that alters the total life situation
(C) A modifying form of intervention

(D) Gratification of a variety of personal needs

The word ‘grapevine’ in Management refers to a type of
(A) Incentives (B) Motivation technique
(C) Communication technique (D) Training programme

Match the pairs and choose your answer from the codes given below :

(a) Cognitive Social Work (i) Soren Kierkeygaard
(b) Existential Social Work (i) Robert Sunley

(¢) Radical Social Work (iii) Baily

(d) Medical Social Work (iv) Goldstein

Codes :

@@ (b  (© @
A o G G 3Gv)
B) O G (@ aGv)
© a @®H 3> Gv)
D) Gv) G G (@)

Who made the following statement ?
“Problems are unmet needs”

(A) Mary Richmond (B) H. H. Perlman

(C) Murray Ross (D) Yohan Galtung
The independent variable is also called as

(A) Criterion variable (B) Predictor variable
(C) Construct (D) Extraneous variable

In which year the publication entitled as ‘Social Diagnosis’ was done ?
(A) 1922 (B) 1915
© 1917 (D) 1921

One of the following does not figure in the Millennium Development Goals (MDGs).
(A) Eradication of extreme poverty and hunger

(B) Improvement of maternal health

(C) Combating HIV/AIDS, malaria and other diseases

(D) Promoting good governance

“The Maintenance and Welfare of Parents and Senior Citizens Act” was passed in
(A) 1997 (B) 2006
(©) 2007 (D) 2004
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(a) A TUST HA () R FRRTE
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(A) ™ Remus (B) U=L.UH. ToiEe
(C) ™I (D) JeH MR
T TR off FEAAT ¢ |

(A) TIEE W (B) USHM Sl TR
(C) fqemoT (D) ==

HIYeT SRS’ TS hi qRAeh T Th1e foh o | g1 ?

(A) 1922 (B) 1915

© 1917 (D) 1921

FriTere o © Uk Teeiea! foreht 329 § |ieHferd 8l &

(A) 3T T 3R AT T ST

(B) T A i GERAT

(C) Ta.3ME.A./TSH, HellkaT 31 311 AT & Herrerell e
(D) 3T=3 URTI &l Wi T

TSR TS ARG AR HRUT 4§01 Ua ShoaroT ST’ ford o | uiiRd gaT ?
(A) 1997 (B) 2006
(©) 2007 (D) 2004



42. Which of the following does not threaten Internal Validity ?
(A) Maturation (B) History
(C) Instrumentation (D) Randomization

43. When facts are assembled, ordered and seen in relationship, they constitute
(A) A Project (B) A Scale
(C) A Theory (D) A Concept

44. The Civil Society Organizations is called
(A) First sector (B) Second sector
(C) Third sector (D) Fourth sector

45. The major theme of HDR (Human Development Report) of 2007/08 is
(A) Water harvesting (B) Fighting climate change
(C) International cooperation (D) Democracy

46. Functional approach in Case Work was developed by
(A) Jessy Taft (B) Otto Rank
(C) Gordon Hamilton (D) Talcott Parsons

47. The therapy developed by Otto Rank is called
(A) Crisis intervention (B) Humanistic therapy
(C) Rational emotive therapy (D) Will therapy

48. Which one of the following is the characteristic of society ?
(A) Non-assistance (B) Non-organisation

(C) Interdependence (D) Non-difference

49. The concept of Directive Principles of State Policy was borrowed from the Constitution

of
(A) USA (B) England
(C) TIreland (D) France

50. SOS villages were started by
(A) Hermann Gmeiner (B) R.N. Butler
(C) C. Phillipson (D) K. D. Gangrade



42, fr=ifera o 9 I SfidReh U ol SitgH | Serar e ?

(A) TR (B) g™
(C) SZHIA (reee) (D) =g fesahieRoT
43. 9 2! T U (AT ST €, ShH | 1T STHT € 3R fohdl Ty § 33T ST &, o 98 Sheedldl ©
(A) TSR IREASHT (B) =Ml
(C) Tasma (D) JTFYgREm

44, AN GHST e 1 Fheelld & ?

(A) Wt & (B) Tgc=r &=
(C) i & (D) = &
45. 2007-08 I AFE e R o1 o fowar & 2
(A) =TT GUEOT (B)  SToTay Uielc st Ui
(C) AR T (D) WSTEa=
46. e A | UehrEerar T fohee forentaa forar 2
(A) & TR (B) 3R
(C) T efiree (D) AR TETH
47. 3iieeie gRT foentad i 178 Fafhea s et & ?
(A) Hehe e (B) wHaawR! fefrear
(C) TgTTd HaTTerHs FafhedT (D) =1 Fafercar

48. GHST i forgreer i H A S Er e ?

(A) F-Feam (B) 31-9eA
(C) aiefasian (D) &-9g

49, T & i Femen fagTl ot STeRoT fome 2397 o e § ot 78 2
(A) FUaT (B) i
(C) AT (D) W

50. Y 37 UG U foReh g1 URE fopw 1w 2
(A) T AR (B) 3IR.TA. FeoR
(C) 3. frferom (D) .2L. T
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